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QUESTION 1

What is the main benefit of splitting the core network into separate user-plane and control-plane nodes?
A. Independent configuration of user-plane and control-plane nodes

B. Independent scaling of user-plane and control-plane nodes

C. User of a shared data repository for storing user states.

D. Creation of networks with isolated properties over a common infrastructure

Correct Answer: B

QUESTION 2

Which of the following Nokia products is responsible for the configuration, fault, and performance management of
CMM?

A. Network services platform (NSP)

B. CloudBand application manager (CBAM)
C. CloudBand network director (CBND)

D. NetAct

Correct Answer: A

QUESTION 3

Based on the exhibit output, how does a VM associated with security group "SG_CMM" handle TCP traffic?

[root@controller01 ~(keystone_admin)J# openstack security group rule list SG_CMM

+ + + + + +
| ID | IP Protocol | IP Range | Port Range | Remote Security Group |
+ ---- ---- +ommee -+ + + -
| 0a4f49f7-a40e-4136-9376-8dabc374b032 | udp | 0.0.0.0/0 |161:161 | None |
| 80829%ace-80d0-4ef8-937d-99a174a80ff0 | lcp |0.0.00/0 |443.443 | None |
| 846de90b-41ff-46f9-886b-3b11acd2b36¢c | None | None | | None |
|be2e9edb-554d-4d0a-8bc7-5e4022703764| tcp |0.0.00/0 |123:123 | None |
|ded87d0a-bbad-45e7-9726-46935254434e| tcp | 0.0.0.0/0 |830:830 | None |
| fae67809-0528-4016-b872-80e86378b458 | tcp |0.0.00/0 |22:22 | None |
+ — + + + + +

A. Drops TCP traffic with destination port 22
B. Drops TCP traffic with source port 22

C. Allows TCP traffic with destination port 22
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D. Allows TCP traffic with source port 22

Correct Answer: C

QUESTION 4

Which of the following statements regarding CMM internal IP management (IIPM) is FALSE?

A. lIPM manages reachability between CMM VNF components.

B. IIPM monitors connectivity over two vNIC ports when two internal networks are used.

C. With lIIPM, broadcast messages are sent periodically between VMs.

D. IIPM uses BFD to provide a fast switchover in case of an internal reachability failure.

Correct Answer: C

QUESTION 5

Which of the following can be concluded based on the CLI output shown in the exhibit below?

C.

D.

[rootEcontroller0l ~(keystone admin) ]# openstack server list

""""""""""""""""" | I e T A g oo e [ A e e e R R LT [ ey e s i, e i T e i o R it dbad o N et s s e g e 5 S ot ey g T
ID E Name : Status E Networks E Image Name
_________________________________ o e o S i e T Ao o o e 0 S S DN T b e s S el o g
574afebc- i learningcenter—cmm- E ACTIVE 5 int0=169.254.64.10 E learningcenter-cpps—
4ade-4523-8965-9ed4a86£f413 | podl-cpps=0 ' ' » image-c
fobboB16-5002-4268-afef- : learningcenter-cmm- | ACTIVE | int0=169.254.64.11 | learningcenter-cpps-
d2862959ac06  podl-cppsl ' I + image-c
e6458bdb-8699-4d2e-931c- ' learningcenter-cmm- ! ACTIVE ! int0=169.254.64.51 ' learningcenter-dbs-
808292f6a052 ' podl-dbsl ! 1 ! image-d

dc78b35a- ! learningcenter-cmm- ! ACTIVE ! int0=169.254.64.50 ! learningcenter-dbs-
b3d4-4542-b955-4185£70e744c | podl-dbs0 ! ! ! image-d
5260c78b-75e2-406d- \ learningecenter-cmm- , ACTIVE , s11=10.10.8.100; , learningecenter-ipds-
8£25-1e1039e05e05feb | podl-ipds0 : 1 int0=169.254.64.60 | image-i

' 1 1 51=10.10.2.100; .

b 4 | 86a=10.10.9.100 ’
8186c141-096b-4102-alld- | learningcenter-cmm- \ ACTIVE , s11=10.10.8.101; | learningcenter-ipds-
blb3belf5509 | podl-ipdsl 1 | int0=169.254.64.61; | image-i

| ' 1 51=10.10.2.101; :

i : 1 36a=10.10.9.101 '
ad72£081-83fc-4512-aTec- : learningcenter-cmm-— : ACTIVE : cm0=192.168.213.208; : learningcenter-necc-
43703ecT3dfc + podl-necc2 | + int0=169.254.64.32 ‘ image-n
fa3d28ff-5181-49da-b420-ba’7 E learningeenter-cmm-— ! ACTIVE E cm0=192.168.213.206; ' learningcenter-necc-
02cc3d544 ! podl-necc0 ! ! int0=169.251.64.30 ! image-n
3a481db4d-1fca- ! learningcenter-cmm- | ACTIVE | cm0=192.168.213.207; | learningcenter-necc-

| 48b3-a9e7-1b372cel81b3 ipodi-necel S Jint0=169.251.64.31 _jimagern :

The "openstack server list" command only lists active servers.

. All the servers listed are created on the controllerO1 hypervisor.

All the servers listed are inter-connected via network "int0".

The three necc servers are created in an anti-affinity server group.

Correct Answer: A
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